
23. The force acting on a beam is normally distributed with 2~ (950,10 ) lbF N . Find the distributions of its two 

components, one parallel and the other one perpendicular to the u  axis. 

 

Solution 

1F  stands for the parallel force; 
2F  stands for the perpendicular force. 

For
1F   

    
1 cos30 822.72 lbo

F     

1 cos30 8.66 lbF     

For
2F  

2 sin30 475 lbF    

2 sin30 5 lbF    

Thus the distributions of F1 and F2 follow 

                                                  2

1 ~ ( 822.72, 8.66 ) lbF N                                         Ans. 

                                                  2

2 ~ (475,5 ) lbF N                                                     Ans. 
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